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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forEQ4AW_W2
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EQ4AW

RyiE) | EBIATK (FD) | ERE (EH/) | BEBREE (B/R) [XKS AR

06:30 94 50. 0 0.088 B TmHA@06:30 KENFEF (KRA{EEEE)
07:30 94 50.0 0.088 R5| FiHA@O7:30 FREIFEF (KRAEE:R)
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EQ4AW_W2, Day=16 (2025-06-08)
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EQ4AW

BYIE) | BRI (F)) | s (EAH/ER) | BREE (B/R) | XK ERR

05:55 60 30.0 0. 052 BE| {Ri&e05:55 Fz (REAEHE)
06:55 60 30.0 0. 052 BE| 1BRi%e06:55 F3h (RF{EREE)
07:55 60 30.0 0. 052 BE| {Ri&e07:55 Fr (REEEE)
09:00 60 30.0 0. 052 RS {Ri&@09:00 Fz (REAEHE)
10:55 60 30.0 0. 052 BE| 1Ri%e10:55 Fzh (RFA{ERE)
12:25 60 30.0 0. 052 e Bi%e12:25 Fz (REERSE)
13:45 60 30.0 0. 052 S| Rige13:45 Fz (REAEHE)
15:10 60 30.0 0. 052 S| 1Ri%e15:10 Fzh (REEZRE)
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LORFEBIPH (4.8) S5#REIEN (6.5) REKK, BRE.




EQ4AW_W2, Day=14 (2025-06-06)
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